

# $\mathbb{C}$ -ośla (pobieranie)

1.10.2020

Przykład:

$z = \sqrt{3} - i$  transformujcie  $\mathbb{C}$ -ośla z A-tram do G-tram  
 $a = \sqrt{3}$   $b = -1$

$$z = \underbrace{a + ib}_{A} = \underbrace{(a, b)}_G = \underbrace{|z|}_{E} \cdot \underbrace{(\cos \varphi + i \sin \varphi)}_G = \underbrace{|z|}_{E} e^{i\varphi}$$

$$\sqrt{3} - i = \sqrt{3} + (-1)i = (\underbrace{\sqrt{3}}_a, \underbrace{-1}_b)$$

$$\circlearrowleft |z| = \sqrt{a^2 + b^2} = \sqrt{(\sqrt{3})^2 + (-1)^2} = \sqrt{3+1} = \sqrt{4} = 2$$

$$\cos \varphi = \frac{x}{|z|}$$

$$\sin \varphi = \frac{y}{|z|}$$

$$\Leftrightarrow \begin{cases} \cos \varphi = \frac{\sqrt{3}}{2} \\ \sin \varphi = \frac{-1}{2} \end{cases}$$

$$\circlearrowleft \varphi = -\frac{\pi}{6} + k \cdot 2\pi, k \in \mathbb{Z}$$

$$(\sqrt{3}, -1) = \sqrt{3} - i = 2 \left( \cos \left[ -\frac{\pi}{6} + k2\pi \right] + i \sin \left[ -\frac{\pi}{6} + k2\pi \right] \right) = 2 e^{i \left( -\frac{\pi}{6} + k2\pi \right)}, k \in \mathbb{Z}$$



# Можна C-обла

$$z = 2 + 3i$$

$$\begin{aligned} z^2 &= (2 + 3i)^2 = (2 + 3i) \cdot (2 + 3i) = 4 + 6i + 6i + 9i^2 = \boxed{4 + 6i + 6i - 9} = \\ &= -5 + 12i = (-5, 12) \end{aligned}$$

$$\begin{aligned} z^8 &= \underbrace{(2+3i) \cdot (2+3i)}_{(-5+12i)} \cdot \underbrace{(2+3i) \cdot (2+3i)}_{(-5+12i)} \cdot \underbrace{(2+3i) \cdot (2+3i)}_{(-5+12i)} \cdot \underbrace{(2+3i) \cdot (2+3i)}_{(-5+12i)} \\ &\quad \cdot \underbrace{(2+3i) \cdot (2+3i)}_{(-5+12i)} \cdot \underbrace{(2+3i) \cdot (2+3i)}_{(-5+12i)} \cdot \underbrace{(2+3i) \cdot (2+3i)}_{(-5+12i)} \cdot \underbrace{(2+3i) \cdot (2+3i)}_{(-5+12i)} \end{aligned}$$

MV

$$z = |z|(\cos \varphi + i \sin \varphi), \quad z^u = |z|^u (\cos [u\varphi] + i \sin [u\varphi])$$

Problem:  $z = 1 + i = (1, 1)$

$$\bar{z} = z$$

a) prosta  
cz MV

$$\bar{z} = z \cdot z = (1+i)(1+i) = 1 + \underbrace{i+i}_{2i} + \underbrace{i^2}_{-1} = 2i = (0, 2)$$

b) cz MV

$$|z| = \sqrt{1^2 + 1^2} = \sqrt{2}$$

$$\cos \varphi = \frac{x}{|z|}$$

$$\sin \varphi = \frac{y}{|z|}$$

$$\cos \varphi = \frac{1}{\sqrt{2}} = \frac{\sqrt{2}}{2}$$

$$\sin \varphi = \frac{1}{\sqrt{2}} = \frac{\sqrt{2}}{2}$$

$$\Rightarrow \varphi = \frac{\pi}{4} + k2\pi$$

$$(1+i)^2 = \left( \sqrt{2} \left[ \cos\left(\frac{\pi}{4} + k2\pi\right) + i \sin\left(\frac{\pi}{4} + k2\pi\right) \right] \right)^2 \stackrel{MV}{=} \sqrt{2}^2 \cdot \left( \cos\left[\left(\frac{\pi}{4} + k2\pi\right) \cdot 2\right] + i \sin\left[\left(\frac{\pi}{4} + k2\pi\right) \cdot 2\right] \right) =$$

$$= z \cdot \left( \underbrace{\cos\left[\frac{\pi}{2} + k4\pi\right]}_0 + i \underbrace{\sin\left[\frac{\pi}{2} + k4\pi\right]}_1 \right) = z(0 + i) = zi$$


---

OBMOČENJE  $\mathbb{C}$ -obsega

$$\sqrt[m]{a} = a^{\frac{1}{m}}$$

$$\sqrt[m]{a^u} = a^{\frac{u}{m}}$$

$$\sqrt[n]{z} = z^{\frac{1}{n}} = \sqrt[n]{|z|} \cdot \left[ \cos \frac{\varphi}{n} + i \sin \frac{\varphi}{n} \right]$$

$\downarrow$   
 $R$ -obsega

$$\sqrt[n]{z} = \sqrt[n]{|z|} \cdot \left( \cos \frac{\varphi}{n} + i \sin \frac{\varphi}{n} \right)$$

Problem:

$$\sqrt[4]{1} = \sqrt[4]{(1,0)} = \sqrt[4]{1+0i}$$

$$|z| = |1| = \sqrt{1^2 + 0^2} = \sqrt{1} = 1$$

$$\cos \varphi = \frac{x}{|z|}$$

$$\sin \varphi = \frac{y}{|z|}$$

$$\cos \varphi = \frac{1}{1} = 1$$

$$\sin \varphi = \frac{0}{1} = 0$$

$$\varphi = 0 + 2\pi k = 2\pi k$$

$$\sqrt[4]{1+0i} = \sqrt[4]{1} \cdot \left( \cos \left[ \frac{2\pi k}{4} \right] + i \sin \left[ \frac{2\pi k}{4} \right] \right) = \cos \frac{k\pi}{2} + i \sin \frac{k\pi}{2}, \quad k \in \mathbb{Z}$$



$$a) k=0 \quad \sqrt[4]{1+0i} = \cos\left(0 \frac{\pi}{2}\right) + i \sin\left(0 \frac{\pi}{2}\right) = \underbrace{\cos 0}_1 + i \underbrace{\sin 0}_0 = 1$$

$$b) k=1 \quad \sqrt[4]{1+0i} = \cos\left(1 \frac{\pi}{2}\right) + i \sin\left(1 \frac{\pi}{2}\right) = \underbrace{\cos \frac{\pi}{2}}_0 + i \underbrace{\sin \frac{\pi}{2}}_1 = i$$

Se:  $\sqrt[4]{1} = i \Leftrightarrow i^4 = 1$   
 $\underbrace{i \cdot i}_{-1} \cdot \underbrace{i \cdot i}_{-1} = 1$

$$c) k=2 \quad \sqrt[4]{1+0i} = \cos\left(2 \frac{\pi}{2}\right) + i \sin\left(2 \frac{\pi}{2}\right) = \underbrace{\cos \pi}_{-1} + i \underbrace{\sin \pi}_0 = -1$$

$$d) k=3 \quad \sqrt[4]{1+0i} = \cos\left(3 \frac{\pi}{2}\right) + i \sin\left(3 \frac{\pi}{2}\right) = \underbrace{\cos \frac{3\pi}{2}}_0 + i \underbrace{\sin \frac{3\pi}{2}}_{-1} = -i$$

~~$$e) k=4 \quad \sqrt[4]{1+0i} = \cos\left(4 \frac{\pi}{2}\right) + i \sin\left(4 \frac{\pi}{2}\right) = \underbrace{\cos(2\pi)}_1 + i \underbrace{\sin(2\pi)}_0 = 1$$~~